I ghl ugaz—nﬁéﬁwwwﬁlwmm
ST Bl

IL. aﬁl%mﬁﬁmm%ﬁﬁﬁ*w
T @RIgAT § A1 A

(A) Faer a 17T Bl

\(B/amam%lmaa;r%l

(©) ar 4t 13T IHeTgy 2l

(D) 13X 3T worga |

(B) 3rgaftd weT
> Rewrest =it arerdt &1 T AR g 8,
TP YT F TH ABR el &
4) W (B) wgatg
Rear (D) ==
(B)  rgafa T
i DG-06 2

In the following qges}ion, there R
followed by Coursgsé;gf action Numbe,, dstatemem
Assuming the sta}ggnt as tryg, decidI
course(s) of action i!fould Iogically fOHoWe; Which
STATEMENT : 3 '
There has been [a=rapid ise
through fake calls;_'fjal¥_-over the ¢q
monetary losses to%éﬁizens, Causip,
COURSES OF ACTION ;
L. People should be discoyy,
smart phones.

I The service providers should pe
flag the calls from dubjoyg callers,

8ed frop, buYing
asked to

(A) Only I follows.

(B) Only II follows.

(C) Either I or I follow.
(D) Neither I nor ﬁ?lows.
(E) Question not atte;;}pted

The question given below consists of a statemer
followed by two arguments I and II. Deci¢

which of the argq{iiéﬁffs) is/are strong ? /
STATEMENT : -

Should aérated drinks be banned in primay
school canteens ?

ARGUMENTS .

L Yes It adversely affects the health of kids.
I No. It’s for the students to decide whethe \/
to buy the aerated drinks or not.

(A) Only argumeﬁfffs strong '
(B) Only argumentIIrls strong
(©) EitherIorIr isstrong

(D) BothIand I a;;g&ong

() Question not attempteq

- is Raju’
Pooja is the daughter of Meera, Meerd IsMaJ]ﬁ"‘ (c
only sister whoge mother js Malt-

d to PO
son-in-law is Rakegp, Rakesh is relat®
as:

(A) Brother
(C) Father

of
. Jaw (E)
(B) Brother" 2

(D) Uncle
(E) Question noy attempted

i DG-06
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4. / 99 MY AT F arr wfiEr a ¥ |4

_ FErEmE
(B) oTq HAFTSS

(E) FaRd.UA
dmlmﬁw@iﬁwﬁ?ﬁaﬂmﬁ X #7915

(A) TR~ (B) W)
© emr 20(1)_ (D)-emT 19(1)
() STRRA T

\/ﬁﬂ%ﬁaﬁﬁﬁﬁ?mmmﬁaﬁm !

¥ I7-307 H BT F U I HIC ST IAITd
i fau  fapeal § ¥ HER IR I G|

(A) w1 ¥ aifgEres (B) ORI oS
(9/%?{ (D) TS T

(E) aﬁ'ﬂﬁ?f:ﬂ;

s/ Preftad ¥ & @ d sk, ampt (0 F R |8

g et & TR &2

(&) Allele

When non-metals react with oxygen, ——
is/are NOT formed.

(A) Water (B) Metal oxides

(©) Non-metal oxides (D) Carbon dioxide
(E) Question not attempted

Which one of the following provisions of the RTI
Act elaborate on first appeals by requesters ?

(A) Section 8(1) (B) Section 7(5)

(C) Section 20(1) (D) Section 19(1)
(E) Question not attempted

Which of the following is ejected mostly by
thermal power plants as by-product of coal
burning processes which results in air pollution ?
Choose the most appropriate answer from the
options given below. .
(A) Oxides of iron (B) Tetraethyl Lead
(C) Dust (D) Fly Ash
(E) Question not attempted

The alternative form of a gene which controls any
one character is called :

(B) Dominance
(C) Recessive (D) Genetics
(E) Question not attempted

Which of the following figure is embedded in the
pattern given in fig. (X) ?

®

X)
(A) (B)

/£

W
© ) [Fs
K Va

(E) Question not attempted

PTo,



9. What should come in place of quest;
9/ fteiaa siwen # we g (7)F WA T " the following series ? question mar (,

Sg? M14P, PM14, 4PM1, ?

M14P, PM14, 4PM1, ?

(A) 1PM4 gy/ 14PM (A) 1PM4 ~(B) 14PM

(C) 1MP4 (D) 14MP (C) 1MP4 ~ (D) 14Mp
mmq (E) Question not attempted

& 3 (BE) T A, ‘ENGLISH’ Pt(10. In a code zanguage, ’?NGLISH is written .
‘VMTORHS’ forem smam &1 35t wrwr # ‘HINDI 'VMTORHS'. How W ) HINDI be written in ¢

same language? L
Tl T s 2 S
(A) SRNVR \(p»/ SRMWR (A) SRNVR (B) SRMWR
(C) SRMVR (D) SROWR (C) SRMVR (D) SROWR
aq:ﬁﬁa PEC) (E) Question not attempted
o # e frew s (Eﬂtrﬁfﬁ) 11. In Rajsthan, the Border Area Developme
Hal ﬂﬂlﬂﬁ TRYT ST BT 2 9 Programme (BADP) is NOT being implement
suedd , in:
e Ty o et 7 @ wER SR I ?‘ﬁl Choose the most approprlate answer from ¢
A‘/ options given below7: %
AR (B) AR (A) Alwar B) Sriganganagar
©) SEEH (D) T (C) Jaisalmer i
() IraRa wed (E) Question not attempted
gf& PAPER I 16-0-16-0-18 & ®9. # Ffea|12. If PAPER is coded a_gé 0
(Fiftea) fear mam &, @ a9 PENCIL &7 &9 code PENCIL? %<
BHied B4 7 &/
(A) 16-5-9-12-0-3 16-0-14-3-0-12 (A) 16-5-9-12-0-3 (B) 16-0-14-3-0-12
(©) 16-0-14-0-0-3 (D) 16-5-14-3-9-12 (C) 16-0-14-0-0-3 (D) 16-5-14-3-9-12
(E) aﬂ?lﬁ?f LELS (E) 'Question not attempted
13/ 2011 @t FOAT & AN UTAH H TG |13, According to census 2011, which district has!
At sTEe e e #5189 highest population in Rajasthan ?
\(}/ ST (B) SITeANX | (A) Jaipur
AT (D) e qX (C) Jaisalmer v
(B) i 9 (E) Question not attempted
@ e e # T (RAC) F41 8 2 il What is RAC in Ra]asthan Police ?
(A) TISTRIT WA BT (A) Rajasthan Armed Constabulary
(B) THIG WA Tﬂ%ﬁ?’ﬂa G (B) Ramgarh Armed Constabulary
© MEUCRMAZE SE5 f ©) Rajgarh Armed Constabulary
(D) ST TAEA I /{) Reserved Armed Constabulary
() gt 7e (B) Question not attempteq

i DG-06 4



®

ﬁﬁ%rﬁa?r%iﬁwﬁmqﬁg(?)%wwm

et TEAT T I B -
(B) 38 //

2,5,10,17, 26, 2, 50

(A) 37

(C) 39 (D) 40
) IERA W Y

mmmmﬁw%?
frETaret e /gﬁmﬁrw
TAg @ (D) B B
IFART T

T [T T a9 e A & 9% & e

(13 1) T 7w | Fue B T A ge, A

H 6 I ¥ B A1 e e A S g

TSR § Staa WeE & T aifes B ¥ ER

FETE?

YT

IS FEWRT 7 AL FEIE S gfvr s A

ﬁw%ﬁwqﬁmﬁmﬁﬁ@aa@ﬁw

Bt IR Tl h

frreet

I. gﬁmwﬁm%m%ﬁﬁmw
e # guw gl

L #Er & e & Ry aiepa ST wowm
Pt giematt & srasaewar ot

(A) HIA 1 3JTHOT FaT B

(B) I II SAERT HYaT 2

(© 7 at 131 7 & [ 37T e B
ﬂlaﬁ'{naﬁmﬂr?aﬂéil

(B) sl we 05y

/ W&Ta&mﬁumzﬁrwwﬁmﬁcﬁ?

@ TfE (e
© = < (D) TR
SR v

18.

15.

. (©) Jaipuri Khyal

17.

Select the number that can replace the question
mark (?) in the following series : '

2,5,10,17, 26, 2, 50
(A) 37 (B) 38
© 39 (D) 40

(E) Question not attempted

Lachhiram/Lacchiram is related to which folk
drama ?

(A) Shekhawati Khyal (B) Kuchamani Khyal
(D) Hela Khyal

(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of them
logically follows beyond a reasonable doubt from
the information given in the statement ?
STATEMENT :

The covid pandemic created mayhem and
exposed the sad reality of existing medical
infrastructure worldwide.

CONCLUSIONS :

L. Medical infrastructure was improved after
the pandemic worldwide.

Il Dealing with the pandemic required
sophisticated as well as sturdy medical
facilities.

(4)

(B)
©

Only I follows,

Only II follows.
Neither I nor II follows.
(D)
(B)
Who founded the Jat principality of Bharatpyy 7

Both I and II follow.

Question not attempted

(A) Badan Singh (B) Surajmal

(©) Churaman (D) Rajaram

(E) Question not attempted




y T ¥ SirmT o o TigaT 9|19, The Constituent Assembly. of India in

TR o] women members.
\(y/s B) 7 (A) 5 (B) 7
(© 10 D) 15 (€ 10 (D) 15
(E) 3rqaRd usT (E) Que_s;iion not attempted
20/ fyateiRaa # SR B B ¥|20. Which of the following figures when pl
N _;2_2_;2: ;::’[ o E::: 0 (X) the blank space of fig. (X) would comp]

pattern ?

(A) § \(}/ (B)
© \‘ © P, (D) |
(E) 3IrqaRd 97 , (E) Questlon not attempted
2/  \RA BT WG BT AL EIM 2 21.  The Constitution of India came into force
(A) 26 7EaX 1949  (B) 15 30TET 1947 (A) 26 November 1949 (B) 15 August!
\(9/ 26 ST 1950 (D) 2 STRER 1948 (© 26January1950 (D) 2 October!
(E) 3rqand 997 (E) Questlon not attempted
29/ ww FARE FiE #, BLACK Fi 29 @ S 1| 22. Inacert'_‘am;ode, BLACK is written as %
3t Fre § WHITE ! H& feran Fmem 2 WHITE written in that code ?
(A) 92 By 65 A) 92 ; ®) 65
© 2 ©..% © 2 (D) 56
(E) and 9% (B) Question not attempted
i DG-06 °



@l TTST IR ¥ ded oo #
frreferted & F T Tt <rommt @) s &
T T 6 T F IRafi frar a0
et ﬁ"ﬁ'ﬁﬁﬂ T ITYT I G
(A) WWWM

@HWH@TM
{./WWWTS

SR T =T 3

AR U3

24/ P (a) AR (b) F drw T FRTa dow T
freferiaa freat # & Sugew el =1 www
Wm(c)ﬁ(d)%@awmwﬁﬁ
HL S INBIA (d)ﬁr ueT fog (7) @ whrenhe
HIT B

(4)

(D)

AR 9L

/1976%mu%mﬁmvaﬁwaﬁﬁwm
ARATT AU B wra # enfrer s

Sermrar? o
A) 4rai = \(9)/4261
(©) 44t (D) 43ar
() SmaRd 997
Y DG-06 7

23,

24,

25.

Which of the following National Highways in
Rajasthan has been converted into 6 lane from

Jaipur to Ajmer under Golden Quadrilateral
Project ?

Choose the most appropriate answer from the
following options.

(A) National Highway number 11

(B) National Highway number 14

(C) National Highway number 8

(D) National Highway number 3

(E) Question not attempted

There is a definite relationship between figurfes
(@) and (b). Establish a similar relationship
between figures (c) and (d) by selecting a suitable

figure from the following options that replaces
the question mark (?) in figure (d).

ENME
(@) (b) (c) (d)

(A) v (B)

© ‘ (D) K

(E) Question not attempted

On which Constitutional Amendment Act of
1976, the term ‘secular’ was added to the
Preamble of the Indian Constitution ?

(A) 41 (B) 42

(©) 44 (D) 43w
(E) Question not attempted

P.T.0



26/ ﬁqmua:rﬁa‘rsﬁﬁsﬁi(lﬁll)m“?%

ART e
27/ & Ry () W@ g it
o
(X)
HISIERAIN;
A "[G
(B) T 99
! DG-06 ’ 8

%ﬁmww%mw%lmﬁé’rﬂé
ST A W W g, el ot wE § W
T BT X RIEE T Frend 7 74T B

YA :

3t Agd Tl B Gt ol

frrene

I ¥ §we T Al B Bl

. . O g% fawerar #t i o Jwr 2|

(A)/ Fae Frend 17\347\NTUT T 2|
(B) e FTemE 1 SRR YT B

(©) = 13T 7 & 11 STE0T HIT 2|

(D) 13WX MSAT SHT FI &

26.

27,

In the given question, two conclusions (1 ang
are followed by a statement. Assume
information given in the statement to be
select a logically drawn conclusion bey,
reasonable doubt.

4
nq 1
STATEMENT.

Hard worki:i'S'fii: ;ey to success.
CONCLUSI:E)NS 2
L All sticeessful people are hardworking

IL Smart work leads to failure.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Neither I nor II follows.

> Mirror

O

(D)

©

(E) Question not attempted



28,/ 9 few 7T W F, v T F L
Iaﬁﬂla”rné%lmaqqﬁwq:;;m
fo5 i aron/aRemE R 2 7 ’

FUA ¢ ™)

qfer wemE A et g At ol i
e s foean, et gyt At o
T T A GRT WSy o it A

S

E

UMY -
L AT ST % S 9gd @i 2
I. ST WA TAT St |

(Y Fae uwo 1f B
(B) et arom 11 ffea B
(©) T at 131 7 & 1 fafea 2

2. / TF FT (FIS) AT H, (ii{ETﬁ ‘CROTKE’
Bt ST | T AT # {SEARCH’ 1 ¥ Terell
ST ? £

(A) ASEHCR

(C) ASECRH

(E) 3raRd 93T

yﬁwﬁﬁmﬁaaﬁqmaﬁﬁmﬁwﬁﬂ%
goft g1 §?

28.

29.

30.

31.

In the question given below, a statement is
followed by two assumptions I and 1L
Considering the statement as true, decide which
of the assumption(s) is/are implicit ?

STATEMENT :

The police administration blocked ventricular
rally ground where a
e to

movements around the
public meeting is to be held by a leader du

the large inflow of supporters.

ASSUMPTIONS :
L The leader is very popular among the
public.

I.  The leader will win the upcoming election.
(A) Only assumption I is implicit.

(B) Only assumption 11 is implicit.

(C) Neither InorIlis implicit.

(D) BothlIandIlare implicit.

(E) Question not attempted

In a code language, ‘ROCKET’ is written as
‘CROTKE’. How will ‘SEARCH’ be written in

that language ?

(B) ASECHR
(D) ASEHRC

(A) ASEHCR
(C) ASECRH
(E) Question not attempted

Which of the following is not a category for
classifying the elements ? '

(A) Non-metals (B) Metalloids

(C) Metallurgy (D) Metals
(E) Question not attempted

Who can make advances out of the Contingency
Fund of the state to meet any unforeseen

+ expenditure ?

(A) Finance Minister (B) Chief Minister
(C) Home Minister (D) Governor

(E) Question not attempted

- P.T.0,
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35

(&)

i DG-06

s ot Y A & forg Frfortem # @ foew (32,
U] HT IANT FepaT SATATE 2
A frg o Rt # | TR IR I LA
(A) fex
(B) Tt
\(9/#1@31115
() st 3l g ey
(E) Sraie wem
TR T 2024-25 F IR, 25 g JTHT |33,
ARt & U 9@ S fem e w
AT =TT [T ?
(A) 10WRFT  (B) 15 &R BT
© 20&RFAE (D) 25 =R TG
(E) 3rIaRa s+
frfafaa & & @iv @1 gdvele W widar, |34
AT, ¥ @TgSl AN AEAT B sellgew #
IqaT ReaT AT & 9
j/madvr (B) Srader gUor
(©) wHaw gUor (D) I &
(E) rana 93
fr g A A9IgY 3N Feurr foskarett & frg | 35.
‘At fayaeat 9em Ao AaRR 2024 #
3[E T F GG B F?
(A) ot (B)
(E) ¥rqafa wea
TS FATHN AT Sfaft &1 dadd & 36.
(A) I8 (B) dwrR
/C)/ ST (D) fterarer
(E) IgaRa 9
10

Which of the following instrument is y,

measure Earthquake waves ? Seq \
Choose the most appropriate answe; b
options given below. my

(A) Barometer
(B) Rain gauge
(C) Seismograph -

(D) Max and Min Thermometer

(E) Question not attempted

According to modlfled budget 2024-25, yy
the estimated expenditure on Jal Jeevan Mg
drinking water for 25 lacs rural households?

(A) 10 thousand crores (B) 15 thousand crore
(C©) 20 thousand crores (D) 25 thousand crore

(E) Question not attempted

Which of the following mirror/lens is used
solar furnaces, torches, search = lights a
headlights of VEhJCIES ?

(B) Concave Mirror
(C) Plane Mirror:~ — (D) Convex Lens
(E) Question not aﬁempted

Which state has made the announcement
launch ‘Mukhyamantri Vishwakarma Pt

Scheme’ in November 2024 for laborers and s
vendors ?
(A) Delhi (B) Gujarat

(C) Maharashtra == (D) Rajasthan
(E) Question not égteﬁ;pted
The Phad artist Shilal Joshi belongs to'

(A) Churu C ‘ (B) Bikaner

(C) Jodhpur % (D) Bhilwara

(E) Question not attempted |



37,/ o T AR T TG H T R S T A
e Bl 3 () 7 =g il
(A) IO (B) IR : IR
© =T Oy w =@

e

(E) STIARE 9T L

@ & s % T 9T T AR

ZYO, XWP, VUQ, ? =
(4) TSR (B) ..STR
(@ RIS (D) TRS

() SFIRNG 5T

3./ 3@ T B TEAH B B W wiwg gewn
N e R

(A) A

(& <J9a

(A B
Jﬁz::nmm%’i:

© 7t 1R T & 11 TR P 8l
(D) 130 EF SrgaeeT F &l
(E) srqaRa e

1 DG-06
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37.

38.

39.

The given pair of words share a common

relationship except one. Choose the odd one out.

(A) Paper: Wood (B) Wine : Grapes

(C) Belt: Leather (D) Gold : Silver

(E) Question not attempted

Find the missing term in the given series :
ZYO, XWP, VUQ, ?

(B) STR

(D) TRS

(A) TSR
(C) RTS
(E) Question not attempted

Identify the river on which the famous Chuliya
Waterfall is located.

(A) Luni (B) Saraswati

(C) Chambal (D) Betwa

(E) Question not attempted

Assuming everything in the statement given
below to be true, decide which of the following

courses of action logically follow(s) ?
STATEMENT :

A strong correlation has been found between the
road accidents and over-speeding by the vehicles
causing large number of casualties.

COURSES OF ACTION :

I.  The should direct the
automobile companies to install a device in
the vehicles to automatically limit the speed
at 50 km/h.

II. Installation of speed cameras on the roads
and imposition of heavy challans on
offenders.

(A) Only I follows.

government

(B) Only II follows.
(C) Neither I nor II follows.
(D) BothIandII follow.

(E) Question not attempted

P.T.0.




;ﬂ/“ﬁwwfawﬁw”wwm%?
(A) 15 arrg (B) 55T

6 S (D) 14 3rTEd
(E) Iraia wew
yﬁwﬁﬁamﬁmmw%?

77,49, 36, 18,

A) 9

44, TR & 3 3 1 &
%%Wﬁwﬁﬁﬁmmmﬁ
(A) 3 w397 3k e
(B) &Ramm o v g2y
(Y 9o 3k e
(D) BRE™ 3R wpoerg

) IARE wen
45. m%&rmiﬁmwmq&
%mﬁamam%|

(A) FEmEEIE (g T gy
(C) et \(?/i‘sﬁm
E) e 797

! DG-06

A i gy

44,
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41.

42,

43,

When is “World Environment Day,, , E
e

]
() suj ) \“/20
Une ¥

(A) 15t August

(C) 6t June (D) 14w Augyy ‘ T
(E) Question not attempteq ﬁ:
What is 7the next Number j, the fy, Ec
sequence ? J "

77, 49, 36, 18__ i . 7
(a) 9 o (B 8 |

© 6 L D7 E‘
(E) Question not attempted

APIO (Assistant Public Informaﬁon Ofﬁm)ha M
to forward application for informatioy, to: i

i
|

(A) The head of the Authority

(B) PIO (Public Information Officer) I \]
(C) First APPt{lIa:tef'Authority \‘%
(D) Second Appellate Authority ‘
(E) Question ﬁo’f%«fttempted F N

|

The two states toth~e North of Rajasthanare: |

Choose the most ;ppmpriate answer fromt y
Options given below, ';

(A) Uttar Pradesh ang Punjab

i

(B) Haryana ang Uttar Pradesh v o S
© Punjab ang Haryana
(D)

Haryana anq Gujarat
(E)

12/

i
(boundary of Rajasthe"
Wnas

Question Not attempted
i3
The Westerp

Pakistan ig kno

(A) McMahon( jna . (B) Durand Lir®

o
© Kalapan (D) Radcliffe

(E) Question not attempted ! DG



%023-24ﬁmﬂﬁmﬁﬁgﬁﬁﬁﬁwm
& faded &1 [ Iqes ol Freafeiad § 9
qEa ;
o fow 7T famedt # § wed SUE S G|
(B)

(A) SToTHT

47.

4./ 18 I 2024 Tt ‘TreT R Fgaw’ & @ W
| AR YR TR A e i @
| TR foRaT T 2

(A) wtamdgee (B) T HINTET
Gy im wEt (D) frTE FHiedt
) IARA 99

49. /" JTENH F AEE-_G F AHE & A TA@RY,

\-50/RTI3TﬁIﬁ'iW a%am 19 FT U (3) 6 &

(A) FAAF fofg &t wifta & 10 f&=
) Fa® it 1 i & 90 fo
(©) FAAF Trofa it wifta & 40 &
(D) FAAF fofa @t miftT & 30 &

13

46.

47.

48.

49.

50.

51. Which historian and archaeologist of R

T T NG

In 2023-24, Rajasthan was the leading producer of

one of the following types of oilseeds. Identify

from the following :
Choose the most appropriate answer fr
options given below.

(A) Linseed
(C) Castor seed

om the

(B) Mustard

(D) Soya Bean

(E) Question not attempted

The High Court of Rajasthan has its bench at

(B) Chittorgarh
(D) Jaipur

(A) Hanumangarh
(C) Jaisalmer
(E) Question not attempted

Whose statue was unveiled in ‘Jaipur Wax
Museum’ on the occasion of ‘“World Heritage

Day’ on 18t April 2024 ?

(A) Sachin Tendulkar (B) Lata Mangeshkar
(C) NarendraModi (D) Virat Kohli

(E) Question not attempted

Name the ruler of the Chauhan dynasty of
Shakambhari, who was given the title of
‘Kavibandhava'.

(A) Arnoraj
(C) Vigrahraj IV

(B) Ajayraj
(D) Prithviraj III
(E) Question not attempted

Time limit for filing second appeal under
Sub-section (3) of Section 19 of the RTI Act is:

(A) 10 days from the receipt of FAA’s decision
(B) 90 days from the receipt of FAA’s decision
(C) 40 days from the receipt of FAA’s decision
(D) 30 days from the receipt of FAA’s decision
(E) Question not attempted

ajas
wrote the famous text ‘Lipimala’ ? Jasthan

(A) Bavji Chatur Singh

(B) Dayaldas

(C) Kaviraj Shyamal Das

(D) Gaurishankar Heerachand Qjha
(E) Question not attempted



52,/ R, ST o aeER T ¥ few i 52
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3 frr aTo Rt F ¥ WER IYLE I I
(A) TE waor gat A"
(B) = gt SR AT
\(C)/w-mﬁm@faﬂwﬂfmﬂ

(D) 3@ -y Tl F|gE
(E) STaRa U

uﬁw%m%%ﬂwﬁrqﬁqﬁﬁ%&m
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(A) T T SR

(B) WA &
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L(?)/vmﬁnﬁvm

(E) 3rgana s

A Re7 7T weT F T YA F A€ S a6 [307[54

1y e E| A Bt R B WA @b we

2/

A @

T AR NG 27 F HIA 8 TAANAD &F 2

MEq ?

s

2| 3EH gATT AR ST & S|

I, &l qE SW QW A Wl e A
aMRiemt &, eftg gt @ oY Ay B

(A) ,Fad ab 17d &l

";(p/ma?knw%l

(©) I3 T & NAE &l
D) 13k et werEd &l
(B) 3rgaRa 9%

f DG-06 14

In which agrocllmatlc region of Rajasthan; J;
luded ? Pu,
Dausa and Ajmer are include

Choose the most appropriate answer frop, the
options given below. .

(A) Flood prone Eastern Plain (
(B) Humid Southern Plam |
(C) Sub-humid Southern Plam ‘

(D) Semi-arid Eastern Pla o @

(E) Question not attempt

For violation of the Constltunon, the President

may be removed from the office by:

Choose the most approprlate answer from the
options given below. ‘

(A) A no-confidence vote
(B) The Prime Minister

(C) The Electoral College consisting of members
of Parliament and the State Legislature

(D)

(E)

The question given belovy cons1sts of a statement
followed by two argur_n‘nts I and II. Decide

STATEMENT : =

Should there be only two political parties in2
country like India ?

ARGUMENTS :
L Yes. It will make the election process easier:

I No. In a country like India where there &
several regional asplratlons, regional part %
are also required. *

(A) .Only argument I is strong

(B) Only argument IT is strOng

(C) Neither Inor I is strong.
(D) BothIand Il are strong.

(E) Question not attempted
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57.

I & S SUT-E.1 oigs qgrpdl &l qor
H arfers T i &

1. efl wmar-Rer e s At @ Rugm &+
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1| =

(A) I T [HSYT Bl

(B) Fact dh 79T ¢l

(C) ar ar 19T AT &
Mﬁlﬁﬁﬁllw%
(E) I™RA U

SCHT-IAND AT H o I AT B
E11X, H7V, 2, N3R; Q2P

(A) K5T
() 15T
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55.

56.

57.

58.

According to 20t livestock census of India, which
of the following states is on the top of Livestock
Population ?

(A) Uttar Pradesh (B) Rajasthan

(C) Madhya Pradesh (D) West Bengal

(E) Question not attempted

Ashmit introduced Riti as the wife of his
mother’s husband’s son Sumit to his wife Reema.
How is Ashmit related to Riti ?

(A) Cousin (B) Uncle

(C) Brother (D) Brother-in-law

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and IL Decide

which of the argument(s) is/are strong ?
STATEMENT :

Should parents spend more money on the
education of their sons than on the education of

their daughters ?

ARGUMENTS :

I.  Yes. The data shows that boys succeed more
than girls.

II. Yes. Parents should spend more money on
their daughter’s marriage than on her
education.

(A)
(B)
©
(D)
(E)

Find the missing term in the alpha-numeric
series : '

Only argument I is strong.
Only argument II is strong,.
Either I or Il is strong.
Neither I nor Il is strong.

Question not attempted

E11X, H7V, ?, N3R, Q2P
(A) KST (B) K95
(C) I5T (D) 19U

(E) Question not attempted

PT.0.
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Fq ¥ G 59. The following pairs of words are re in o

59. /é{ﬂ%ﬁﬁ g g TP g ﬁ d particular manner. Which pair does not f0110w-\
P AL § T {1 3T ? thatpaltcrn?

B/
A) Ligi: Cub
(A) 9 ATTH () C. JP
(B) T et (Tufh) (B) Dog g
( T S (©) Cow Bull
(D) faeeht ; il @7 s (D) Cat Kltten
SRR (E) Quest:on not attempted
g ; I'E?T 60. In th; questlon below, there is a statemen;
f aﬂ%ﬁq Wfagfnﬁgg %quz:r TH q followed by two courses of action (I and I
: ( : ¥ B T Consider the statement to be a fact, decide Wl‘uch
A, 70 ™ % T T FRETE : of the suggested courses of action logically follow *
TS ST §T § FHBT ATHAIT B & 7 ek ‘
Y ‘ STATEMENT :
T T |, T8 <@ 1§ T w5 3w A o & In a state, it has been observed that there is ap
FROT JHT & S Al qJY T H EI&G B W@ increasing rate of female mortality during child
gl birth because of early marriages.
SR % alis COURSES OF ACTION :
St ar Srgat A I.  Dottors or midwives should refrain from
. — Efa‘?]; X W:ir ?[q;lg";l-a il i ¢onducting child deliveries of the underage
e ; ’ feTnales
I : P T 3T A il IL. The govemment should provide monetary
W /e A AT | helpio the underage expecting mothers.
FAT [ ITTHT BT B (A) OnlyT follows.
(B) FacT II STTHIOT AT 3 | (B) Only II follows.
(C FarITaI STHIOT H[IAT z (C) Neither I nor II follows.
(D) 137 ST I8 F3 El (D) BothIand II follow.
FTANT 79

(E) Question not attempted

61/ 21 g AFHT (X) FT HE A Wewierar | 61.

Choose the correct water image of the given
figure (X).

ﬁ

(X)

(A) ® (B) o - (B) .
2 0 §< ][[D’oé

o Nur] 9T O Neg]  ©
0 " S %.(I]ﬂ[

(E) Question not attempted

f DG-06 16




) Rreferied ST F 9T fag (9) & e @ HA
/o g It ?

A= foT v fawedt # ¥ w9 9|
3,4,6,8,12,13,24,?,48, 26

(B)
(D) 19

(A) 35 20
) 36

(E) ITWRA WA

5,/ Tore # et & @ few wew w5 B
/i 4 H O S ¥ A

A feT Ty faset F & st SugE I I
(A) Steitg Bt
(©) et Fgt

(E) STaRd 9

) g (230 ()% i T e s B
T frepedt # ¥ TP TG I BT TAT B
wﬁ(c)aﬁi(d)%aﬁawwmwﬁa
X ot P (d)F weA ©E (7) @t wlawtd

Fl 2l
AT ?
() (b) (c) (d)
(A) Q (B) Q
() , (D) :

(E) srgaixe 9T
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62.

63.

64.

What number should replace the question mark
(?) in the following series ?

Choose from the options'given below.

3,4,6,8,12,13,24,7,48,26

(A) 35 “.(B) 20
©) 36 (b) 19

(E) Question not attempted

Which of the following types of soil occupies the
largest area in Rajasthan ? ‘

Choose the most appropriate answer from the
options given below.

(A) Alluvial Soil (B) Black Soil

—.(B) Desert Soil
5 o

°
There is a definite relé_;i_.ifiship between figures
() and (b). Establish_a‘ similar relationship
between (c) and (d) by:selecting a suitable figure

from the given options that replaces the question
mark (?) in fig. (d).

(C) Red Soil

(E) Question not atte

npted

(©)

A
Ule
O

(E) Question not attempted
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(D) Ay
(E) 3/ aid weq
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(D) (a)
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(B) e 7
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wifers aftad® & a3 Pratafaa 4 & T ar |65

66.

67.

68.

Which of the following statements ig o
about a physical change ?

(A) The chemical composition of substance
remains unchanged.

(B) They cannot be reversed easily.
(C) The physical properties like shape, size,

colour or state are not changed.

(D) One or more new substances are formec

(E) Question not attempted

The function of the large intestine in the ht
body is mainly to :

Choose the most appropriate answer fron
options given below.

(A) Digest the proteins
(B) Digest the carbohydrates
(C) Absorb all nutrients from the digested fc

(D) Absorb water and salts and excrete
undigested food

(E) Question not attempted

The District Disaster Management Auth
(DDMA) is headed by :

(A) District Magistrate

(B) Block Development Officer
(C) Chief Secretary of State
(D) MLA

(E) Question not attempted

Amongst the following figures, which on

different from the rest ?

A

@ © @ @
%) © ® o
© @ © @ |

(E) Question not attempted

e ——
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(E) STTARA WA |
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o frT 1T el # € AW IUgE IR
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© shrerareT — YaE
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L —S—————— T, T L I

Who founded the city of Jodhpur ?

(A) RaoJodha (B) Rao Maldeo

(C) Rao Chunda- LS (D) Rao Rawal

(E) Question not %itempted

What should cotf_i:\e;_x_j‘{ext in the letter series given
below ? (=7

ZP, YO, XN, WM
(A) ZL T Tea (B) VP
(C) ZP (D) VL

(E) Question not attempted

Tungsten is a mineral used for making the
filament of bulbs. A famous location of tungsten
ore in Rajasthan is :-

Choose the most_appropriate answer from the -
options given below:

(A) Nagaur - Dg‘ ag]a

(B) Rajsaman
(C) Bhilwara - I;e\:rana

(D) Ajmer - Kayar

(E) Question not attempted

Who among the following has the power to
remove the governor of a state from office ?

S

(A) President |

E s

(B) Legislative Assembly
(C) Chief Minister

o e
{

(D) Speaker

(E) Question not attempted

P.T.0
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(A)  =HeT

The question given below consists of 5 Stater,
followed by two assumptions Numbered | A
Considering the statement as true, dec; de i
of the following assumption(s) is/are implici
STATEMENT : |
Only good dancers were invited to |, da
festival. No one without a flexible body s 8
dancer.

ASSUMPTIONS :

I.  All invited dancers in the dance festiva] |

a flexible body.

II. Dancers without flexible body were
invited to the dance festival.

(A) Only assumption I is implicit.
®)
©
D)

(E) Question not attemptedv

Only assumption II is implicit.
Either I or II is implicit.

Both I and II are implicit.

If ‘Rose’ is known as ‘Sunflower’, ‘Sunflower
known as ‘Lotus’, “Lotus’ is known as ‘Tasmi
and ‘Jasmine’ is known as ‘Lily’, then w
would be the name of Indian National Flower :

(A) Lotus

(C) Jasmine

(B) Lily
(D) Sunflower
(E) Question not attempted

The question given below consists of a statem
followed by two assumptions I and
Considering the statement as true, decide wh
of the assumption(s) is/are implicit ?
STATEMENT :

In spite of an increase in the number of tex!

factories in a country X, it continues to imp'
fabric,

ASSUMPTIONS :

L. The demand of fabric per capita in X is ©*
increasing.

The textile factories of X are inefficient.
Only assumption I is implicit.
Only assumption 11 js implicit.

Either I onll is implicit,

11,

(A)
(B)
(©)
(D)
(E)

Bothand 11 are implicit.

Question not attempted



) FetfeTie Mgt # & BT @ JHT ATH T | 76. Amongst the following figures, which one is
R E? : different from the rest ?
R R R AR A AR
Cp L L UL
() (®) (©) (d) @ . © (d)
) {0 ® @ @O B e
© @ D) (© © () oy © ©
(E) ﬂﬂﬂﬁﬁ =T (E) Question nogfa%mpted
) IR I P H F B BT d1esd §T(77.  Which one froni;:_;t;_hg four ansvzelﬂr fig;res will
FEAT & At : me to the right-of the problem figure to
?ﬂ'{':&l‘l‘({'lﬁafr W T Eﬁmf)let(:a theeseri:;g%ggically ?
3 A :DéDAQ | T4PAQ
| OAl xO X 1] IO oA xO X T
® XKOA ® [AO x ® KOA ® [AO X
* : % T v
© [AO X ® [A O X © ﬁo X| == O [AO )1(
1 1 S
uil : S
(E) Wﬁﬁ 99T (E) Question ng?iéf%mpted
> e & SR St WX T 78.  Thesecond tropt;iijgvel inalakeis:
(A) TETEEE (FEIHE) (A) Phytoplankfon_:
(B) qg.%_rq‘-l’- (ﬁb’%ﬁﬂ) (B) Fishes
(C) ﬁaa-zﬁ (—aﬁﬁ-g-) (C) Benthos
(D) wrfTETa® (FT<Te) (D) Zooplankton
( Wﬁﬁ q9q (E) Question not atwtempted |
%jﬂ:ﬂ &7 RER ufra, 2005 (RTI aqﬁrﬁ-rqvq‘) 79.  The Right to Information Act, 2005 (RTT Act)

i adetre W@ % FEes #
- Trefafag % ¥ Rew T S QAT S T AW
. FArE?
Frr e g Rrepedt # F WA
(A) w&g @Y qreEar

©)  =gmar

I A
qRERTAT
(D) wiasar

(B)  srqaia weA
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k

seeks to promote which of the following qualities
in the working of every public authority ? .-
Choose the most-appropriate answer from the
options given below:

(A) Punctuality

P (B) Transpéfency
(C) EfﬁCiEncy LA

(D) Reputation
(E) Question not attempted

P.T_o.
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(A) 15 30T 1947
(B) 26 FgET 1950
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(D) 2 3R 1948
) sERT R

Sb Pt § % Rt o v o s
AT ST 87 i
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81.

82,

83.

The Indian Constitution was adopted on .
(A) 15 August 1947

(B) 26 November 1950

(C) 26.November 1949

(D) 2 October 1948

(E) Question not attempted

Who among the following is recognised
“Father of the Indian Constitution” ?

(A) Mahatma Gandhi

~ (B) Dr.B.R. Ambedkar

(©) Jawahar Lal Nehru

(D) Dr.K.M. Munshi

(E) Question not attempted

Who has become the first batsman in the wc
hit 600 sixes in the history of Interna
Cricket ?

(A) Jos Buttler (B) Rohit Sharma

(D) Quinton de Cc

(E) Question not attempted

(C) David Warner

Which of the following is a list of only
degradable wastes ?

Choose the most appropriate answer frot
options given below.

(A) Plastic bottles, cooked food, hous
organic waste, Paper and cardboard

(B) Fruit and vegetable peels, leather and
clothes, cattle dung and agricultural w

(©) Aluminium foil, PVC, egg shells,
leaves and paper

(D) Glass pieces, leather, plastic bottles
agricultural wastes

(E) Question not attempted
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85.
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Select the one which is different from other three
alternatives : :

(A) Rhombus (B) Trapezium

(C) Pentagon (D) Rectangle
(E) Question not attempted

The  famous folk dance of the regions Of
Bharatpur and Alwar is the :

(A) Bam Dance™ (B) Ghoomar
(C) Garba
(E) Question riot attempted

(D) Bhawai Dance

the

Which of the following is not an objective of ¢
n

Rajasthan Institute of Transformation 2

Innovation (RITI) ?

Choose the most appropriate answer from the

options given below.

(A) To provide training to students in the field
of IT.

To estlmate_varlous types of resources
available in_the state (physical, financial,

(B)

To prepare pohcy guidelines for making the .
best use of state resources.

©

(D) To devefop_ mechanlsms to unprove the

: “attempted

"In the question, given below is a statement

followed by two conclusions (I and II). Assume
the statement to be true, decide which of the
conclusions logically  follows from the
information given in the statement beyond a
reasonable doubt ?

STATEMENT : Death is inevitable.

CON CLUSIONS

I. Manis mortal

II. Those who are born must die one day.

(A) Only conélﬁsion I follows
(B) Only conclgfnon II follows,
(C) Neither I'nérI follows.

(D) BothTandlII fol_low.

(E) Question not attempted

P.T_o



(A) 716 "]4-1‘.(8) 712
(©) 708 (D) 710
(E) IrRa wew
89. gﬁ-ﬁwaﬁmﬁamﬁaﬁﬁwﬁm 89.
?
(A) =i (B) wreamg
(E) 3rqaRa weA
90. / I HER ﬁﬂ?ﬁ'—rm MUH  |HET
2023-24 % A, RrRnyad 2023-24 # TR
BT T F F T Fr-AWTGH R § 9
A Ry T et # ¥ g ST SO |
(A) 30.85% \9;/ 26.72%
(C) 22.60% (D) 21.35%
AR 79
(a feq 7 geT A, mmﬁﬁaﬁ?ﬁﬁﬁmﬁ
waaﬁtwﬁm%lﬁw(ﬁmﬁmaﬁ
s
(A) 65K --; ® oy
©) 37 .?(D) 39L
(B) AN H
-1 DG-06 24

et simen & q@ g g 2 8s.

630, 666, 691, 707, 7, 720~

90.

What is the missing term in the following Serj

630, 666, 691, 707, 7, 720

(A) 716 (B) 712

(C) 708 (D) 710

(E) Question not attempted

Bani-Thani is associated with which schc
painting of Rajasthan ?

(A) Kota (B) Marwar

(C©) Kishangarh (D) Bikaner

(E) Question not attempted

What is the Agricultural sector’s contribut
Rajasthan’s income in FY 2023-24, accord
the latest Economic Review 2023-24 b
Government of Rajasthan ?

Choose the most appropriate answer fro
options given below.

(A) 30.85% (B) 26.72%

(©) 22.60% D) 21.35%

(E) Question not attempted

In the given question, three of the four
options are alike in some manner and
different. Choose the odd one out.

(A) 65K (B) 91]

(C) 371 (D) 39L

(E) Question not attempted
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9.

, ; Bhartiy?
Which city is the host of the 18th ‘Pravasl ’

Divas Convention-2025" ?

(A) Bhubaneshwar (B) Bhopal

Q) Hyderab (D) Chennai

u ml

(E) Questlon not attempted

n
Who is the Advocate General of Rajasthan as °
22 Feb. 2025 ? 7

(B) Sh. M.S. Singhvi

(C) Sh.N.M. Lodha

(D) Sh.B.P. Agarwal

H'

(E) Ques‘uonnt attempted

What is the varug;of question mark ?

(A) H2 (B) K8

(D) H7

(E) Question not attempted

(C) HS

Find the rmssmg ng number x in the given serj
es:

59, 68, 77, 83 789,,:92 X

(A) 97 (B) 99

(D) 98

(E) Question not attempteq

) 9
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96.

07,

98.

Which of the following statements is true a,
the production of oilseeds and sugarcane
Rajasthan for the year 2023-24, as compared
the production of 2022-23 ?

Choose the most appropriate answer from
options given below.

(A) Total oilseeds production decreased w.

sugarcane production increased in 2023-2

(B)

Total ocilseeds and sugarcane produc
increased in 2023-24.

©

Total oilseeds and sugarcane produc
decreased in 2023-24.

(D) Total oilseeds production increased, w

sugarcane production decreased in 2023-
(E)

Question not attempted

The idea of the Concurrent List has been ta

from the Constitution of
(A) Germany (B) Australia
(©) Canada (D) South Africa

(E) Question not attempted

Pointing to a man, Sooraj said, “He is the ¢

brotht?r of the daughter of my grandmoth
How is Sooraj related to the man ? -

(A) Cousin (B) Son

(C) Father (D) Brother

(E) Question not attempted
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Which one from the four option figures will come

to the right of the problem figure t
series logically ?

o complete the

(A)

©

S CNF
.
©) [?

[

(E) Question not attempted

Which of the folIowéngEairs is the odd one out ?

(A) Frock: Dress
(B) Chair : Furniture —
(C) Rose: Flower

(D) Banana : ‘Appl
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(E) Questior‘llriot attempted
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